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. Explain the main construction and transmission steps of the indexing head?

N

. What is the principle of punching shear processing? What kinds are there?
3. Discuss some of the defects that can occur in plastic injection molding?
4. What are the principal methods used to produce metallic powders?

5. A tensile test uses a test specimen that has a gage length of 50 mm and an
area = 200 mm?. During the test the specimen yields under a load of 98,000 N.
The corresponding gage length =50.23 mm. This is the 0.2 percent yield
point. The maximum load of 168,000 N is reached at a gage length = 64.2
mm. Determine (a) yield strength, (b) modulus of elasticity, and (c) tensile
strength. (d) If fracture occurs at a gage length of 67.3 mm, determine the
percent elongation. (e) If the specimen necked to an area = 92 mm?,
determine the percent reduction in area.



